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1101 [ K1R GH 50 500 0 500
1141|5848 & 4 20 0 20 5 0 0 0 3,240 0 1,296
=) 3 30 0 30 10 0 0 0 1,728 0 1,404
& 7 50 0 50
1201[83% % 140 2,100 0 2,100 15 0 0 0 2,052 0 1,188
& 140 2,100 0 2,100
1203[F ¥Ry [HE 148 1,480 0 1,480 10 0 0 0 1512 0 1,242
HE 50 750 0 750 15 0 0 0 0 1,166 0
f=554 127 1,270 0 1,270 10 0 0 0 1,296 0 918
& 325 3,500 0 3,500
1204[Glh—J)L [EH 5 50 0 50 10 0 0 0 0 1,404 0
ED 5 50 0 50
1207[F& GH 618 97 61 36
1209| A& dLiEE 1 3 0 3 3 0 0 0 0 1,728 0
dbiEE 10 50 0 50 5 0 0 0 3,456 0 3,024
Eh 11 53 0 53
1301 |HF ] 35 70 0 70 2 0 0 0 1,188 0 756
=H 1,200 360 0 360 0.3 0 0 0 0 108 0
= E 35 175 0 175 5 0 0 0 2,484 0 2,376
Eh 1,272 613 0 613
1321 [ BiE 47 235 0 235 5 0 0 0 3,240 0 1,836
(&) 95 475 0 475
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 113 0 108
[E)) 150 23 0 23
1355|495 ERE 80 8 0 8 0.1 0 0 0 0 92 0
Eh 80 8 0 8
1501 [HE EE 13 65 0 65 5 0 0 0 1512 0 864
Eh 13 65 0 65
1541 | E& JLiEE 48 960 0 960 20 0 0 0 0 2,052 0
Eh 48 960 0 960
1603|tz)L)— [RE%H 10 100 0 100 10 0 0 0 3,348 0 2,484
Eh 10 100 0 100
1609|7Aval) |EH 15 90 0 90 6 0 0 0 4,536 0 3,024
Eh 15 90 0 90
1611[LBR RE 2 20 0 20 10 0 0 0 0 4,320 0
Eh 4 30 0 30
1612| 4 =L 2R |EH 5 25 0 25 5 0 0 0 0 2,700 0
Eh 5 25 0 25
1627[3=F=F  [EEX 45 135 0 135 3 0 0 0 3,780 0 3,672
Eh 45 135 0 135
1705| &= = 450 36 0 36 0.08 0 0 0 0 56 0
=0 3 12 0 12 4 0 0 0 0 3,456 0
(&) 603 60 0 60
1803 | EHEE EE 720 72 0 72 0.1 0 0 0 146 0 119
=) 300 30 0 30 0.1 0 0 0 157 0 120
me 120 24 0 24 0.2 0 0 0 77 0 66
(&) 1,140 126 0 126
1807 [ EH % 150 15 0 15 0.1 0 0 0 0 42 0
=% 930 186 0 186 0.2 0 0 0 86 0 73
Gh 1,080 201 0 201
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1809|L &L EH 500 50 0 50 0.1 0 51 0
£ 1,560 312 0 312 0.2 97 0 83
GhH 2,060 362 0 362
* SFEET * 14,682 18,378 61 18,317
2103| EE A A A [FIFRIL 17 170 0 170 10 3,240 0 1,620
[&D) 47 470 0 470
2235|>F /24 | ER 49 490 0 490 10 6,480 0 4,752
[&D) 49 490 0 490
2311|FFEFY BH 15 150 0 150 10 0 6,480 0
(&) 15 150 0 150
2421 | FiERM | F0FL 30 225 0 225 75 0 2,376 0
GhH 30 225 0 225
2611|E4—7 [E 32 13 0 13 0.4 529 0 475
(&) 32 13 0 13
2616|S<AAL [ 15 75 0 75 5 7,560 0 7,020
(&) 15 75 0 75
2821 |BIER EE 108 54 0 54 0.5 389 0 259
(&) 108 54 0 54
* S FAET * 562 2,654 0 2654




